Catalogue piéces rechange

69220a

Haupansicht 1 Samba XT

Copyright Wetrok AG. All right reserved, including industrial property rights application.

Wetrok AG retains any power of disposal, such as copying and transferring.

WETROK

Page 1/3



Catalogue piéces rechange

fr

Haupansicht 1 Samba XT

Information commande
Com. No. de référence quantité Désignation

69220a

69220a Haupansicht 1 Samba XT
1 62998 1.0 Réservoir d'eau douce
2 62801 1.0 Couvercle
3 62879 1.0 Réservoir d'eau sale
4 62905 1.0 Déflecteur
5 62881 1.0 Couvercle
6 62882 1.0 Cone
7 62809 1.0 Chaine 2x22x8 A4-AlSI 316
8 97801 4.0 Rondelle 4,3/9x0,8-A2
9 98236 2.0 Vis Parker
10 |62899 1.0 Filtre d'eau douce
16 | 97854 9.0 Rond. rip lock 8,2/18x1,4-a2
24 62989 1.0 essieu
25 62990 2.0 Tube de distance
26 | 55904 2.0 Roue @200
27 97810 2.0 Rondelle 6,4/18x1,6-A2
28 | 97263 4.0 vis lentille hex M6x16-A2
29 |62994 1.0 Plaque pour chargeur
30 | 62997 1.0 Chargeur 24V5A IPX 3 Samba XT
32 162890 2.0 Boite de distance
33 | 98722 4.0 Manche d'écartement RLCBSRE
34 62013 1.0 Electronique Samba XT
35 |62263 1.0 Electronics couverture
36 | 99235 2.0 Poignee etoile 32/M6
37 | 62995 1.0 Couvercle pour prise chargeur
38 | 62808 1.0 Couvercle
39 | 98237 2.0 Vis a tole ST4.2x9.5-A2
40 |62902 1.0 Couverture
41 |62898 1.0 Propriétaire de batterie
42 | 97803 6.0 Rondelle 6,4/12x1,6-A2
42 197803 6.0 Rondelle 6,4/12x1,6-A2
44 | 62291 4.0 SILENBLOC 20x20 M6
45 | 69204 1.0 Turbine cpl.
46 | 97411 4.0 Ecrou de securite m6, bas-a4
47 | 62999 1.0 Soutien des piétons
48 |62889 2.0 Poignée noix de fin
50 |69223 1.0 Levier cpl.
51 |97262 2.0 L-vis.I6RD.ECO-fixM6x12-A2
52 | 62984 1.0 Cable bowden Samba XT
53 |62900 2.0 Propriétaire de tuyau
54 | 97130 4.0 Vis a tete cyl. m4x12-A2
55 |69221 1.0 Timon cpl.
58 | 62867 2.0 Pack de batt. Dryfit 24V/25Ah
59 |62928 2.0 Carrying strap
60 |62802 1.0 Raccord de tuyau
61 |62803 1.0 Tuyau d'egout
62 |62983 1.0 Tuyau d'aspiration D25
65 | 69025 1.0 faisceau de cables
66 | 59958 1.0 Manual de operation
67 | 59959 1.0 Instruction d' entretien
68 | 56414 1.0 Cable de secteur CH 2P+E
Retail price
Your price
Copyright Wetrok AG. Al right reserved, including industrial property rights application.
Wetrok AG retains any power of disposal, such as copying and transferring.
WETROK Page 2/3



Information commande

Catalogue piéces rechange

fr

Haupansicht 1 Samba XT

69220a

Com. No. de référence quantité Désignation

69 |56415 1.0 Cable de secteur schuko

70 |62054 1.0 Support de cable

71 | 97804 2.0 Rondelle 8,4/16x1,6-A2
Retail price
Your price
Copyright Wetrok AG. All right reserved, including industrial property rights application.
Wetrok AG retains any power of disposal, such as copying and transferring.

WETROK Page 3/3



